No. of Printed Pages : 15 4 5 4 8 4 8 9

A

6683
Loy erevr

Register Number 1/ 06[® |3 kI3

VAMVATONN PART - I

Coudufwco/ CHEMISTRY

(sWp wHMID hdle e / Tamil & English Versions)

GByLb : 3 wewf | [ Glorgs wHIG LTS @ 150
Time Allowed : 3 Hours | [Maximum Marks : 150
Sidlejenry : (1) Aoasg elamssend sflursl ufeard o drersr eratLgman

sflurisgs Qsrdrereyn. @iFaliugeler Gevmud e, DD
samareniuurerflib o angurss Osfelssab.

2) e Sidag smuy ewbulaar wl HGL0 T(PFIUNGU LWeTU(hES
Coua(Bbd. UL ISET euareushELD, 33 &Gamg Heugn@n Quendle
HwerU(h&sayLb.

Instructions : (1) Check the question paper for fairness of printing. If there is any lack of

Gmliy
Note :

Gl :

Note :

fairness, inform the Hall Supervisor immediately.
(2)  Use Blue or Black ink to write and underline and pencil to draw diagrams.

Coeamauwiren @LgHé LILLD auerhg FoemUrfsemer T (PSS

Draw diagrams and write equations wherever necessary.

Li@3 - 1/ PART - 1

(i) Slmergg eflammssenrsEn ellan_wellEsayb. ~ 30x1=30

(i) CarhésiulL mremg el saflér Waeybd epuenw eNen G aner
Camplshds @Ml GLer e uleameruyb Celidg) er(psls.

(i)  Answer all the questions.

(i) Choose the most suitable answer from the given four alternatives and write
the option code and the corresponding answer.

[ Smlys / Turn over
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2

anpLCrr 18§Gsenan Zn/NH, Cl Qsran® @O &slame S iug) :

(<) CH, NH, ¥ (<) C, Hs NH,
() CH, NHOH () €, Hy COOH
When nitromethane is reduced with Zn/NH, Cl, we get :
(a) CH,NH, (b) G, HsNH,
(c) CH, NHOH (d) C, Hy COOH

erggleden Sanerssmre Pl o Lan elenarflbg smeug! :
(1) ICH,-CH,I (<) CH,=CH, (@) CH,=CHI
The reaction of ethylene glycol with PI; gives :

@ ICH,-CH,I (b) CH,=CH, () ‘CH,=CHI

greyL e all$ludedlmBbg s pgidrar Biolb :

(<=1) wan CrrgCermfls flon (=) Folbllyfls sideb
() <Af 198 jflewid

(@) urevurfs oideaib
The liquid that deviates from Trouton’s rule is :

(a) Hydrochloric acid (b)  Sulphuric acid
(c) Phosphoric acid (d) Acetic acid

Sjementey erai pre@ Caram . Cemosdarear sranmy :
(1) Ky [Fe (CN)g] (<) [Co (en)] Cly
(&) [Fe (H,0)4] Cly (7)) [Cu (NHy),] CL,

() ICH=CHI

(d)

An example of a complex compound having coordination number 4 :

(a) K, [Fe (CN)4] ‘ (b) [Co (en)3] Cl4
(c) [Fe (H,O)] Cl, (d) [Cu (NHy),] Cl,

an_Qgdler rflenamru Gl enled 2jBafler IUPAC GQuwi :

(=) 2-HOCam-3-Glngdled AuyCLan

(<1,) 2-(N-Glgdler lGemm) Ay, GLen

(@) 2-(N, N=a_ClwgHad iGerm) 19y, GLa
() 22N, N-eL Qugdar uiGerm) LGrmuGue
The IUPAC name of dimethyl sec. butylamine is :

(a) 2-amino-3-methyl butane

(b)  2-(N-methyl amino) butane

(c) 2-(N, N-dimethyl amino) butane

(d) 2-(N, N-dimethyl amino) propane

ICH=CHI
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FDLD SHIEMHEREHTRT Qe efeneredpE Smyamb ;

(1) ol 2 flessge (<) @al eflasscd

(8) gaflgflapa (/) Wlemmenn G)HLILISTE
The Tyndall's effect associated with colloidal particles is due to :

(a) absorption of light (b) reflection of light

(c)  scattering of light ' (d) presence of charge
Sp&saT_aupmer ers) eram’ Grmeni Sflsh&arg ?

(1) seorsalad o érar &5CrTans Ul SLOTEHGS

(=) @@y s1mTnss6

(R) veallssligew Brrs LDTHNS6D

(FF) spyUrdes LUSRSLIEES®

Which of the following does not result in an increase in entropy ?
(a) crystallisation of sucrose from solution

(b)  rusting of iron

(c) conversion of ice to water

(d) vapourisation of camphor

sruui goGul résorsaiier <ifls o ufl siere; KCN Gaiésib Qumpgl
2 (Heun@ Gamob :

(1) Cu, (CN), (<2b) K; [Cu (CN)¢]

(@) K [Cu (CN),] (F) Cu, (CN),+(CN),

Which compound is formed when excess of KCN is added to an aqueous solution of
copper sulphate ?

(@) Cu, (CN), (b) K, [Cu (CN)(]
(c) K|[Cu (CN),] . (d) Cu, (CN)2+ (CN)2

2U® olam @m Bulrroa o fEhd o Xel®, 5% LHHD x
eSever@QumprL_saeTd SHEDE. @D x eramg) :

(=1) 2 Bluy L gremger (<=4) 3 By yrenaer

(D) o- giser () B-gisar

% U% nucleus absorbs a neutron and disintegrates into g1 Xel®?, 28 sr?4 and x. What
will be the product x ?

(@) 2 neutrons (b) 3 neutrons
() o - particle (d) B - particle

[ Hmiys / Turn over
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10.

11.

12,

13.

14.

4

Her iemésm sowow Gaeumd euTICILITLIg & EPeLD
STSHE LMD,

(@) Z*=5-Z (<) Z*=Z+S (@) 2=2"-5 (F) Z'=Z=5
Effective nuclear charge can be calculated by using the formula : y

@) Z*=5-Z b) Z*=Z+S () Z=Z"-S (d Z°=Z-5S
2H 0\ +2Cly ) = 4 HCl ) + 0y 676D SLOEDOES : 1
(1) K, =K, (@) K K, (@) KK, (™ K =g
ZI-IzO(g) +2C12(g) = d HCl(g) +02(g) for this equilibrium :

1

(a) =K, b) KK (€) K,<K, d) K, = —K—L
&Gorfl Bl fser swurfiss LweaLBn Qe blenews seflbb :

(=1) Cr (<) Ni (@) Zn (fF) Cu

The transition element used for making calorimeters is :

(@ Cr (b) Ni () " Zn (d) Cu
Spssameupmier erdled eipugeurs@sd Cawd Gaome?

(=1) smLpwworsdleow LweTUHSSHIS60

(<=4,) QLedL.m 2 (HeuTged

(@) ugsrrsens LWSTLHSS Glgberr ENuLWTESED

() Lreflenar LwenU(BhSSl Comed Lise (Hged

Which one of the following processes does not involve coagulation ?

(a) Peptisation

(b) Formation of delta

(c) Purification of drinking water using alum

(d) Tanning of leather using tannin

LT Smserlen SL(BLDTE fP&EnmI&HET :

(31) a - mapl préedl 2Lslevd (<) a - UG feid
(@) B - ewami gréen =ylleid (FF) B - OCerm =flevid
The building block of proteins are :

(a) - hydroxy acid (b) @ - amino acid

(c) B -hydroxy acid (d) B -amino acid



15.

16.

17.

18.
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R0 W s clmaniear simreurpey Corw 10 AL ksdr ereafld, Digs
afenarCGeus wrMed :

(=1) 6.93%x10? min~! (<) 0.693%x10~2 min~1

(8) 6.93x1072 min~1 (FF) 69.3%10~1 min~?

The half life period of a first order reaction is 10 minutes. Then its rate constant is :
(a) 6.93x10? min 1 (b) 0.693x1072 min~!

(©) 6.93x1072 min~ (d) 69.3x10~1 min—!

2B&Gem Coir Sweallsamer o meursELma :

(M) orbgemei(Hser (<) pSlgeoaTHSaT
(@) 2wilwu eurwsser (/) sy 2.Consmniser
Oxocations are formed by :

(a) Lanthanides (b) Actinides

(c) Noble gases (d) Alkali metals

EEEETLcupmIeT oTgl eeflFapnEl LU emLwg ?

(1) CH, CH, COOH (s=1,) HOOC — CH,— COOH
(@) CH, CH (OH) COOH (rr) Cl, CHCOOH

Which of the following compound is optically active ?

(@) CHyCH, COOH () HOOC-CH,-COOH
(c) CH; CH (OH) COOH (d) Cl, CHCOOH

C, H; OC, Hy, CH,—~O—-CH-CH,; Gauafllu®ggib wrpbluib :
n

CH,
(=) Slmengblgwa GgrEs) (=) @eent IHOIWID
(@) Grid () shdeds Qg
The isomerism exhibited by C, Hs OC, Hy and CH,-O- CfH -CH, T -
CH,4
(a)  functional (b) metamerism

(c)  position (d) chain

[ Hmuys / Turn over
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19.

20.

21

22,

Brésib 2 epsma 2asEelsEh CaTow - AL (50, 26A1 (OB}
(21) K,SOyAly (SO,)34A1 (OH); (<) KZSOL}.Al2 (504)3-24H ® \
(@) K,S0,°Al, (5O,),4H,0 (FF) 52504- 2 (504)3 2

d to arrest bleeding.
Name the compound employed to a K.SO,-Al, (S0,)5-24A1 (OH),
@@ K,SO,Al, (SO,);4Al (OH), (b) 2504. AL (50,).24H,0
() K,SO, Al (SO,);4H,0 (d) K90 A% (PHalgeitia

SUMTOTEY apeL. LeLigrsdanme LUl

(<=1) umpmssumiorely eman( (<) UMFTedig ena (h .
(@) unriwelen (FF) oolImiLig <yLblevid
Formaldehyde polymerises to give :

(a) paraformaldehyde (b) paral.deh}.lde

(c) formalin (d) formic acid

emanl GrmgGarmis <flogams Camquib sriuGearHLear Srb umis@Ld Gumg,
LweUBSsLu@mD HiprisTig.

() QumrLrflwb QuiwrmksCerl_

(<) SenmevLigeSe

(@) Yemméd Seuliy

() Qusdled < rEns

For the titration between hydrochloric acid and sodium carbonate, the indicator used
1S :

(a) potassium permanganate
(b) phenolphthalein

(c) phenol red

(d) methyl orange

QgL Quipdly urskiseT swnlés LweTLEILD Mg -1 2 Carsdswamal 6Tgl ?
(<=1) 3% ey 2 Cersid LHmID 0.1% Zr.

(<) 30% Bléig 2 Georsid whmib 1% Zr.

(@) 30% ey 2 Caorsid LHMILD 0.1% Zr.

(/) 3% e 2 Ceorssid LOMID 1% Zr.

Which Mg alloy is used in making parts of jet engines ?
(@) 3% Mish metal and 0.1% Zr.

(b) 30% Mish metal and 1% Zr,

(¢) 30% Mish metal and 0.1% Zr.

(d) 3% Mish metal and 1% Zr.



23.

24,

25,

26.
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N, +3H,; = 2NH; erémp swflenadier 21fs <ieray ibGuwralur Sl ius) :

(1) GODHs WS Sfs CauriLflame
(<) GoDHS <(WssLD G@PhHs Aeutiuflane
(@) =bs S(PSHLD GBS Geuliufleana
() <=2fls wssbd < QeutiLifleney

In the equilibrium N, + 3H, = 2NH3, the maximum yield of NH,; will be obtained with
the process having : :

(a) low pressure and high temperature
(b) low pressure and low temperature

(c)  high pressure and low temperature
(d) high pressure and high temperature

rrudiGerreneny HrrhLEsSTD eﬂsm_l;:ug :

(<=1) Quan® g@bearp srésmy

(<2) aperni gpdevm Firdbsany

(8) @m QrieL Fidsmy LHMD QR @Hn Er&EEamIT

(FF) @rer® henm FTasemy WLHDID (F QT L FTESHIT
Raffinose on hydrolysis gives :

(a) two monosaccharides

(b) three monosaccharides

(c) one disaccharide and one monosaccharide
(d) two monosaccharides and one disaccharide

epedaaBlenet Hlaupn H - Yenemtidhamen memm) :

(<=1) o - eopLl_ Gy Sarmed (<) m- epl Gy Senred
(@) p- oplCrr Sarme (r) YSewmed

The intramolecular hydrogen bonding is present in :

(a) o-nitrophenol (b) m-nitrophenol

(c) p-nitrophenol (d) phenol

NaCl Ly &58le» Na* @weflew Gobgerer Cl- weallsalan eramafsms :

(<=1) 6 ()8 (&) 4 (/) 12
The number of chloride ions that surrounds the central Na* jon in NaCl crystal is :
(@) 6 (b) 8 © 4 d) 12

[ muys / Turn over
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27.

28.

29.

30.

8

<Lt HNO; pmib <y H,S0, somall|Ler aflGarer smeld! -

(=) < TGam enplCrr ojalGemed

(<) umpm epLGrr e Camed

(@) <rCsm wHmbd umyr Bl Grm i (€

(/) Gulrr enpl Gyr eflGamed

With a mixture of Conc. HNO, and Conc. H,SO, Anisole gives :
(a) ortho nitro anisole

(b) para nitro anisole

(c) ortho and para nitro anisole
(d) meta nitro anisole

sp? Qand selieull QupBlHEsTs waf

(=) COj (=) s0F (@) NOj; ()
sp? hybridisation is not present in ion.
(2) CO3 (b) soi” () NO3 (d)

ibearseflar smyl LaTADES STFawTD -

(=1) prenpdl janwliLy

(<) empLepen Sigm @(HLILSTE

(8) oplrgeaigidmer safl erasrrer G anL
(FF) eopLygaflen o Wi ereslyrar seurgemenLo
The basic character of amines is due to :

(a) tetrahedral structure

b)  presence of nitrogen atom

(
(c)  lone pair of electrons on nitrogen atom
(d) high electronegativity of nitrogen

SETLILITGT &6UTT &alDLo&E D Frenm) :

(=) sevruureafled o erer o Camaih (<=,) Biled o arer L

(@) Cgeoriqan () Fe (OH), galpioid
An example for lyophilic colloid i :

(a) colloidal solutions of metal (b) sulphur in water
(c) gelatin (d) Fe (OH); colloid

NO;

NO;
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L@ - 11/ PART - II

@ouy : )  oCsaub Llemeni g eflaésehéE denLweflEsab. 15x3=45
(i)  @euGeumm el el @b 6| g Brewt(p cursdlukisatle
allenLwef&sey b,
Note : (i) Answer any fifteen questions,
(i)  Each answer should be in one or two sentences.
31. Qamigeruird Hlenaudereor Qsrarensani (PSS,
State Heisenberg's uncertainty principle.
32. amruailen é-ILLJGUﬂUJFFBS@LD @QJDLI)H)GD @UITU'{TGG)GUT a9l é{ﬁggm ereum ?
Ionisation energy of Carbon is more tl.an that of Boron. Why ?
33. GemCur Freveuend um@ @[ﬁ]ul_l oT(Lp&!.
Write a note on plumbo solvency.
34. HyP, O, -an erevsLment Lemafl eumiiium’ géner euenys.
Draw the electron dot formula of H, P, O..
35. QeLblows sailbhiser o Carss SO@malEmen 2 (HelT&EeUE 66 ?
Why do transition elements form alloys ?
36. @Crmbapemd ysEso undl SmnEdllil aemrs.
Write short note on chrome plating.
37. 13A17+ ,Het 5 450+ H!+Q erap 2 lsGalmadear Q willumus
SeBTL_Hl&.
13A127, zHe4 . 148130 , 1H1 %aﬁumfg@m gllwrenr Hleopsar papCuw
26.9815 amu, 4.0026 amu, 29.9738 amu, 1.0078 amu <4,@!b.
Calculate Q value of the following nuclear reaction.
13A127+ 2He4 — 145130+ ]H1+ Q
The exact mass of |, Al?7 is 26.9815 amu, | 45i%0 is 29.9738 amu, ,He* is 4.0026 amu
and ;H! is 1.0078 amu.
38. wffansL sHsaflan Cogid e LIWGTSEET GT(LDSIE.
Write any three applications of superconductors.
39,

eremm_Grm9 eresmmmed eremes ? SIS SAVGSDETE Fafl).
What is entropy ? What are its units ?

[ H@lys / Turn over
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40.

41.

42.

43.

44.

45,

46.

47.

48.

49.

50.

51.

10

ST el Qararansems sms.
State Le Chatelier’s principle.

Cumedl (pged cuens elanar erammred erartan ? THSHSHTL(D HMHE-
What is a pseudo first order reaction ? Give an example.

2iradeflwen swdm gaer erapd efeTsEs.
Write the Arrhenius equation and explain the terms.

FDLOIDTESE GTEIMTE) eTera ? THEHSET(H SH(HS.
What is peptisation ? Give an example.

Clapar Taem FoamUT g6 epeny PEEWUSSIISMSILID 6T(PSIS.

Write three significances of Henderson equation.

QarerdlGuimor wpmid Lwmevig ACwroisefar rCsad ppem GoumLITBsamaT
T(PSIS.

Write any three differences between enantiomers and diastereomers.

s osanrae Sfsami® sraflég soriurams vwetUu(héS (Plg T,
SMTERTD Sam).
Alcohols cannot be used as a solvent for Grignard reagent. Give reason.

QLreieianadmbe QueTense wpdsanmd ereaieumm swrilssuGAmg ?

How will you prepare benzyl alcohol from toluene ?

Crreenoar @55 Tamnre) eremar ? i BaSO, Gerliugen Crrésin
T ?

What is Rosenmund’s reduction ? What is the purpose of adding BaSO

4 in this
reaction ?

B&emged swear® A LeawRedmbg ereaum surfssliu@dmg 2

How is methyl cyanide obtained from acetamide ?

smifiGue srallen® Csr@sssd LupH s s.
Write about Gabriel phthalimide synthesis.

grumsatien Gsaibd epanny AmiwudLsamer T(PGIS.

Give any three characteristics of dyes.
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LGS - 111/ PART - I

GmlLy : @@Q@Jﬂ'@ Nl momn Gophsulsnd Bwm oOarésmens
Comboshss aCsaib & NeamsEsEndE efewallsseb. 7x5=35

Note : . ,
Answer any seven questions choosing at least two questions from each section.

9fley - 9y / SECTION - A

52.  GLelgar wpmib Qgroflenr Cargamanranw eflaufl.

Describe the Davisson and Germer experiment.

53. irepemenLt srglelledlmpg Soaur ereueury AN505HEsILEADS ?

How is silver extracted from Argentite ore ?

54. arpgemai(h Gnisssen elameraysmar er(ps)s.

Write the consequences of lanthanide contraction.

55. &8 STEMIGEHLGT SjeneaerHBlub wHmD Swelurgsed wrhflukiseamer
eNeméEs.

Explain coordination and ionisation isomerism with suitable examples.

191fley - =y, / SECTION - B

56. sliger gnne G -ar dpuiblweLser wrenel ?

What are the characteristics of free energy, G ?

57. PClg é]emg,m.cm_uqlb allenené@ Ky wopmid K wrdlellaensanear soeamumiqaner
aU(Hed& &6 LD.

Derive the expressions for Kp and K, for decomposition of PCL.

58. alevaralensuien SpUllweyser wWreneu ?

What are the characteristics of order of a reaction ?

A | [ Slriys / Turn over
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59.

60.

61.

62.

63.

GOy @ ()  OQwrssd IHT6B1(E, & s enéE aﬂeo)Lu_laﬂé;asequ.

Note :

64.

12

. - Ac e.muf.= +0:301 V.,
0.01 M Cu?* -m& Qaraimq mé@ELD Cu(zaz)/Cu(-s) Siamrgosdlen em

Qser S emf. -& HaEs (Ha.

i i 301 V.
The e.m.f. of the half cell Cué“;) /Cu containing 0.01 M Cut solution is +0
Calculate the standard e.m.f. of the half cell.

19fley - @ / SECTION - C
ACrromigd Hmb Hedlo-UTigé Frg;ﬁ&;@ésaﬂml_@u_l > grer Gaumum(h&er
BbHoas sms.

Give any five differences between aromatic and aliphatic ethers.

emeumd alenansenar CT(LPSIS.

() SleTenger @HSHD (i) Gurderev ellenes
Write the following reactions :
(i) Clemmenson reduction (if)  Perkins reaction

sriur&els siflow, odsanrai e LAy aaLrrégsa oo arud e
auLflpenmEnll 6T(Pss.

Write the mechanism involved in the esterification of a carboxylic acid with alcohol.

DWI&GS WGHSGIGET UDDl HAnGHliy erpsis.

Write short notes on anaesthetics.
u@dl - IV/PART - IV
4x10=40

UL Coucr@ib.

e esTmy) @mné;a;@é;@

(i) eSlenm eramr 70 -4 sL_Lmuwns fenl wefés]
W& perer 6 armé s efl e &7 G55 601D
allen _wieflGseyLb.

(i)  Answer four questions in all.

(if)  Question number 70 is compulsory and answer an thr
e .
S aestiors, y e from the remaining

(<=1) uredli werpulsd ojwia DITENS HeTdHd (DD
(<) eewflu euryéser rrbGev-rrCe wpevmud
L9M&6le B 1L D & etrm eor eremueng edleul,

(a) Explain Pauling method to determine ionic radii.
(b)  Describe how noble gases are isolated from air by Ramsay-

Penmenwl @ﬂQTéS@a;_
TEHATD ST 68 1555

Raleigh method.




65.

66.

67.

68.

13 6683

(<=1) QanawSlpern epawtiiy Qararenseni vweru®gd [Ni(CN),]>~ evwm
EMhgs senann Gerar g, [Ni(NH,), 2" Cuimarsss searan Qsman. s
ereviLieng HlemLd.

() sdfwss sriuer sra Bliremri (penmenws edlerd@s.

(a)  Using Valence Bond theory prove that [Ni(CN),]>~ is diamagnetic, whereas
[Ni(NH,),]>* is paramagnetic.

(b)  Explain Radiocarbon dating.

(1) sememtriquien senanwen eSleur.

() @upBuss uriiys saredsen, Gadlliiue LFLLS souisdisperer
Ceumur@ser wrena ?
(@) Describe the nature of glass.

(b)  What are the differences between physical adsorption and chemical adsorption.

(1) pavaurdgen Bisse alfleaw efleomd.

(=) Sersagdenen GHG Lwamu@n TUPAC alfpepaemer GHlLIAHS.
(a) Explain Ostwald’s dilution law.
(b)  Mention the IUPAC conventions for writing cell diagram.

(1) cuevarw Cangseanmedlen eus janwliysemer edleufl. yeunMlen
Blenavggenenwens @G@DHILAHS.
(<) Yemau(mid WrHmASET ereueurn Hlapdemmer ?
(i) emadlélalls = dled — <y ev19fler
(i) &ralflells llewd - Boemser #redlfGar_
(i) LrTdlE Sl — urTwew®
(a) Describe the conformations of cyclohexanol. Comment on their stability.
(b) * How are the following conversions carried out ?
(i)  Salicylic acid — aspirin
(i) Salicylic acid — methyl salicylate

(ii) Formic acid — formamide

[ Hmuys / Turn over
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69.

70.

14

(=) ewpLrey e gfleamu, rflaemrw, o 6l G GmoT Ll <94 LS 6o &5 (6T L &aT
eréuaumm edena LA &emg) ? |

(<) GersGsrflan sawindeaer Blmd.

(a) How do primary, secondary and tertiary amines react with nitrous acid ?

(b) Elucidate the structure of glucose.

(1) Cg Hy O erenmp eypevdanm eumiium(® Qarear Gamob (A) pOHlene Quirflé
GGarreprHLcn eaipm Hinsans sdmg. Csmod (A) CHCL; wpmid NaOH
2 |6 smiFad Qumpg @rean® sGamoiser (B) opmibd (C) evws SmEADG-
Gerod (A) 2Lenr e wCembsGaen srpssamyse Gars@ndumpg (D)
crenp wger sGAPS afled (A), (B), (C) wpmb (D) -p& sarLPb
eflenengEene 6T(PFIS.

(<) (A) ereim <preps Heuliy Hlm Lgsd, @ wellan AE w&ARCaml.
Gerwb (A), Quriirflun @Cearreny® wHMD LT Folu,fls
Slesgar ellenar|flbgl, Blmperer auryy (B) enw Qeuaflalhdimg. KOH
2 | an (A) ellenarflbgy (C) eremmm o@pger Hlm senrger GupliL(B$ng| ereflen
(A), (B) omid (C) -8 samLHbg eSenansamar er(psis.

LMV

(&) C, Hy O erenp epedsam eumiurGerw Geiwbd (A), C, Hy N eremp
ep@&aan amuiurGenw Geiob (B) ew mefled sarsg SnCl, wopmib
HCl 2 e @(&sb Ceug surfissliu@dng. Cerow (A) Lreeren
sraflow eO&GHADg. @ Hofl s H, SO, CeréenbCurg Ceaioib
(A) UoLuTEEQIEE LUl ( amearw s (C) g5 smHAHDS erafld
(A), (B) wpmid (C) -evwids sewtLilbg) ellenanaaner 6r(pss.
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An organic compound (A) of molecular formula Ce Hg O, gives violet colour with
neutral ferric chloride. Compound (A) when refluxed with CHCl; and NaOH
gives two isomers (B) and (C). Compound (A) when added to diazomethane in
alkaline medium gives an ether (D). Identify (A), (B), (C) and (D). Explain the
reactions.

Compound (A) is an orange red crystal and also a powerful oxidising agent.
Compound (A) when treated with potassium chloride and concentrated sulphuric
acid evolves coloured gas (B). When KOH reacts with (A) an yellow solution of
(C) is obtained. Identify (A), (B) and (C). Explain the reactions.

OR

An organic compound (A) of molecular formula C, Hy O is prepared by the
reduction of compound (B) of molecular formula C, Hy N dissolved in ether, with
SnCl, and HCL. Compound (A) reduces Tollen’s reagent. When a drop of conc.
H, SO, is added to compound (A), it polymerises to'give a cyclic compound (C).
Identify (A), (B) and (C). Explain the reactions.

Ionic conductance at infinite dilution of Al3* and SOi_ are 189 ohm ! cm?

gm.equiv. ! and 160 ohm~1 cm? gm.equiv.~1. Calculate equivalent and molar
conductance of the electrolytes at infinite dilution.
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